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// lib. js

var counter = 3;

function incCounter() {
counter ++;

}

module. exports = {
counter: counter,
incCounter: incCounter,

%

// main. js
var counter = require('./lib'). counter;

var incCounter = require('. /lib'). incCounter;
console. log(counter); // 3

incCounter();

console. log(counter); // 3
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requireﬂ]]]:onnn1o|module.require[ﬂﬂﬂﬂ]ﬂModule.AloadHM[[[[[

Module. load = function(request, parent, isMain) {
// 1. [ Module. cache[ITITITIIIT]
// 2. I TModule(T]
// 3. [0
// 4. [I] module. load() [TITITIIIT]
// [IITTIITITT] module. compile() [ITTT1T]
// 5. YT
// 6. [IIII1] module. exports
b

|modutle. compile() |[TT]

Module. prototype. compile = function(content, filename) {
// 1. [IIIrequire[IIIImMmodule. require
// 2. [IIIIIITrequire
// 3. [IIIIIIIIIIIIII require
// 4. 1111
b

[Mrequire T

(function (exports, require, module,  filename,  dirname) {
// YOUR CODE INJECTED HERE!
1

age noffpund or type unknown

¢« (111
https://www.infoq.cn/article/nodejs-module-mechanism

http://nodejs.cn/api/modules.html#modules_modules
http://javascript.ruanyifeng.com/nodejs/module.html

fﬂﬁmrequire- cache [T (11

// c.js

console. log(require. cache)



// 111

{ 'D:\\code\\c. js'
Module {
id: 'L,
exports: {},
parent: null,
filename: 'D:\\code\\c. js',
loaded: false,
children: [],
paths: [ 'D:\\code\\node modules', 'D:\\node modules' ] } }

|requiretcacheHrequirehﬂﬂﬂﬂnrrﬂ

// a.js
module. exports = function () {
const a = 18;

console. log("the number is ", a)



// b.js
var fs = require('fs');

var a = require('. /a.js');

function cleanCache(module) {
var path = require.resolve(module);

require. cache[ path] = null;

b();
fs. watch(require.resolve('. /a'), function(){
console. log(' change')
cleanCache(require.resolve('. /a'));
try{
a = require('./a');
a();
}catch(ex) {

console. log(' module update failed');

1

|all8]l8]|cl[Bfirequire. cachel|B{ cll ¢ ImmTITIIIIIITITIT

M T T Websedke R TITTTITI1] TTTWebpack HMROTTTTTTT T TITITITT]
f—aﬁd][l]]]]]]]]]]]]]]]]]]]]]]]][ﬂjj

globalval =1

'use strict';
globalvar =1 // [
global. globalVar =1 // M

|use s tri ct [T

a4 [[Thttps://www.zhihu.com/question/57375179/answer/152633354


https://zhuanlan.zhihu.com/p/30669007

"dependencies": {

vue": "2,2.0"

|~i~

*|~x.y.z|: Ixy. z| (z| OO0
* [y z|: Ox.y. z| Oy. z| OO

* [*|: oo
~1.2.3 [I]>=1.2.3 <1.(2+41).0 :=>=1.2.3 <1.3.0
~1.2 7 >=1.2.0 <1.(2+41).0 := >=1.2.0 <1.3.0 (Same as 1. 2.Xx)
~1 1] >=1.0.0 <(1+41).0.0 := >=1.0.0 <2.0.0 (Same as 1. x)
~0.2.3 [II]>=0.2.3 <0.(2+1).0 := >=0.2.3 <0.3.0
~0. 2 [I1] >=0.2.0 <0.(2+1).0 := >=0.2.0 <0.3.0 (Same as 0. 2. x)
~0 I >=0.0.0 <(0+41).0.0 :=>=0.0.0 <1.0.0 (Same as 0. x)
~.2.3 [[]>=1.2.3 <2.0.0
70.2.3 [[I]>=0.2.3 <0.3.0
~0.0.3 [II] >=0.0.3 <0.0.4
* I >=06. 0.0 (Any version satisfies)
1.x 1 >=1. 0.0 <2.0.0 (Matching major version)

1.2.x [I00 >=1.2.0 <1.3.0 (Matching major and minor versions)

44 [TThttps://github.com/npm/node-semver#ranges

yarn add package-name@l. 2. 3

|yarn|| yar n (T T T T
|- - save- exact/-E | TTTInpm{packagd ~ | O]

a4 [TTTTIIIIIIhttps://zhuanlan.zhihu.com/p/22934066
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